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A is father of C and D is the son of B. E is the brother of A, C is the sister of D, how is 
B related to E?
(a) Daughter 
(b) Brother-in-law 
(c) Husband 
(d) Sister-in-law
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B is the husband of P. Q is the only grandson of E, who is the wife of D and mother-in-
law of P. How is B related to D?
(a) Nephew 
(b) Cousin 
(c) Son-in-law 
(d) Son
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Pointing to Kapil, Shilpa said, "His mother's brother is the father of my son Ashish." 
How is Kapil related to Shilpa?
(a) Sister-in-law 
(b) Nephew 
(c) Niece 
(d) Aunt
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C is A’s father’s nephew. D is A’s Cousin but not brother of C. How is D related to C?
(a) Father 
(b) Sister 
(c) Mother 
(d) Aunt
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Deepak said to Nitin, “That Boy playing football is the younger of the two brothers of 
the daughter of my father’s wife” How is the boy playing football related to Deepak?
(a) Son 
(b) Nephew 
(c) Brother 
(d) Cousin
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A woman introduces a man as the son of the brother of her mother. How is the man 
related to the woman?
(a) Uncle 
(b) Grandson 
(c) Cousin 
(d) Son
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If A is the son of Q. Q and Y are sisters. Z is the mother of Y, P is the son of Z, then which 
of the following statements is correct?
(a) P is the maternal uncle of A
(b) P and Y are sisters
(c) A and P are cousins
(d) None of the above
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A, B, C, D and E are five friends. A is shorter than B but taller than E. C is the tallest. D is 
shorter than B and taller than A. Who has two persons taller and two persons shorter 
than him/ her ?

(a) A 

(b) B 

(c) C

(d) D
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Five students are standing one behind the other in the playground facing the instructor. 
Malini is behind Anjana, but in front of Gayatri. Meena is in front of Sheena, but behind 
Gayatri. What is the position of Meena?

(a) Second from Last

(b) Extreme First 

(c) Extreme Last 

(d) Second from first
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In a row of girls, Kamla is 9th from the left and veena is 16th from the right. If they 
interchange their positions. Kamla becomes 25th from the left. How many girls are there 
in the row?

(a) 34

(b) 40

(c) 36 

(d) 41
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There are five books A, B, C, D and E placed on a table. If A is placed below E, C is placed 

above D, B is placed below A and D is placed above E, then which of the following books 

touches the surface of the table?

(a) C 

(b) B 

(c) A 

(d) E
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I am facing in Southern Direction I turn Right and walk 20 m. Then I turn right and walk 
10 m. Then again, I turn left and walk 10 m. Then again, I turn right and walk 20 m. Once 
again, I turn right and walk 60 m. In which direction I am from (starting) initial point?

(a) North 

(b) North West 

(c) East 

(d) North East
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Eight people A, B, C, D, E, F, G and H placed as shown in the diagram. All are facing in 
the outward direction. If all of them move anticlockwise to three places then.

(a) B is facing West 

(b) E is facing East

(c) H is facing North West 

(d) A is facing South
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In a meeting, the map of a village was placed in such a manner that southeast becomes 

north, northeast becomes west and so on. What will south become?

(a) North 

(b) North – east 

(c) North – west 

(d) West
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A person whose house is facing east, comes out of his house, takes a left turn and travels 

in that direction for 7 kilometres, after which he takes another left turn and travels for 6 

kilometres. He again takes a left turn and travels for 3 kilometres, and again takes a left 

turn and travels for 3 kilometres. From this point what is the shortest distance to his 

house?

(a) 19 km 

(b) 10 km 

(c) 5 km 

(d) 30 km
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Gangaram started walking towards south. After walking 15 metres he turned to the left 

and walked 15 metres. He again turned to his left and walked 15 metres. How far is he 

from his original position and in which direction?

(a) 15 metres, North 

(b) 15 metres, East

(c) 30 metres, South 

(d) 15 metres, West
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I go 10 m to the East, then I turn left and go 5 m, I turn left again and go 10 m ad 

then again I turn left and go 10 m. In which direction am I from the starting point?
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(b) West 

(c) North 

(d) South
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